/

%
V‘---\/,,:l = [w.---wm] I:T:I'V,W X = \l lists Coe.C\C;c«'en‘l's o'C VE'\/ on bagis vy, Va
Xn

T[
EV"-T-/-V%] = [\I.'T'/VJP [vivaly = [viva] P
E,./I‘%,i\:l = [w‘%,h] QL = Px lists coe.c\féc(en% of vel on basis VeV

A = [T] YW / [
A/: I:T:I o = A = QAP
eL: For a basis B L Voand T:V-Vv l[neMj set I:T:IB: I:T:IB.B

V=R"= Tule, = A. » . _'
[V‘...V,\]P = I:T]'B’z pI:T:IBP

. Reilerade (%)

L )

Cor: Bases B, B’ Por V with [V v
In P&r{‘{l‘.u\\ar, [ [ .
R e )
PE: V=W Q=P O
E_-ﬁ_' V’Iy orthonermal Vi) vy, Vg in [Rs. Deseribe the linear map L:{R3-> ”2; that

L.sendg v, vy, v, to €1)8y, @y

A ro%—o\\'es LY '“-/_3 curouncl Z-aXi§

3. 53“0{5 e)€,@; to Vy)va, by

Awswerz |:L:|£: PRP' = P-'[ngP =R = Q‘:I:L]-B = | rotales around Y lay'%l

0o ol

Ul A
where [P = |"t Va ‘4 and R= |‘§/"/A ]
|1

bl

Ceucial note P= !‘/x \;:. \;3

I ] L\GS two J(Q[Ifnj[y J;%renf 'm‘[’erprejm{’fon.s:

) 3 3
is o linear Wap R— R +hat takes €,,83,6 fo v, v, v,

X, .
+ takes the coefTicients x = H of o Lixed veR on v, vi, v,
%3

W\ulﬁ[)‘fcd"ion b\/ P

s ly = leiese] Py e 3
to the caeﬁ:fciemts e£+[/\e same veR on €,,e,, 6



Del: Fix subspace L &R with dimL =n-2. The rotation by
o\w3|a a acound | is the linear map roh’{ Jetermined L’)’
. rO\Li(L\ =L

ot (1Y) s usual vodation of P by .

¥)

< |
Q. Why set dim L=n-27
A dim Lo=7
Q. Lalt=7
Q. How 5 1olL " debeemined by ()7 "
A Choose = basb oty e L B [ = | 5
e octhonormal basis Y for L7, N 1

nner Provlmd' space

M: Fix su«l:nquce W< /. The remed-;on N
across W s Ry = idy = lfFOJw* W/\X
l 1 f
o ) L
| -l

\/\/: SF“"‘(W“W.:). FMO( I:E\.J:Ig.

JS\

NQGO‘ ])ro'w.L . o’alm \/\/:& (rroof?) SN OIJ.M\/\/J-: _/L , = :QI:‘ G\/\/L
= \l\/LZSFO»V‘(Vs). T [ ‘q [ 2 1]
I

V; Vg G

13(03 wt L\o«s matrix
3

]
=1L |2
-|

o o oab

I
iy
I

| . EE \1-1-|' ";u|
= “’{]R3 “lfPOJW has watrix 3| 3 X “E_-'ll; 2|l =3 :Il:.ll_; = [Ew:lg.




E.g V=R B=(w,w.v). Find [Rily
(3o back +o dol - Ry[Mwava] = [w wyvy] [&]B

But [Rym Rywa Ryw] = [w wy -]

I:Wo Wy V3:| \1 A‘
1
1

£

-
E,g, Uce I:E"J:Iﬁ to comPM‘{“e I:Qw:lg- [EW:I'B.
L] | -l -
= |"~,/. ‘A,/a TJ] = 'O I 4 ﬁ)[la,/:lﬁl' P'D?w]gp
L=l -
= PlR,P'= [R];
FEEEIRE! 10 ~l_—l
=[O0 | 3 1 o1
V-l AL
4] [ 14 [ o
=lo 12 1 /s torl
I N N 74 N R O
EENPRA
= |0 | - l/SJI/SJ/%
IR 2A
34 35 Y4
= %5134 ‘/
3453434

Summary: Tlw-w] = [nw] [Ty (dded)
I:T:Igp = pI:T:I-b

| ol
[T]a\ir“vhl = |Lr"%[ﬂ& & [Tl =PITLP

l l
& PITP = [T

]



